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ΑΣΚΗΣΕΙΣ
ΚΙΝΗΣΗ	ΣΕ	2-D



𝑦 − 𝑦# = 𝜐#&𝑡	 −
1
2𝑔𝑡

, y − 𝑦# = 𝜐#𝑠𝑖𝑛𝜃	𝑡	 −
1
2𝑔𝑡

,⟹ y − 𝑦# = 𝜐#𝑠𝑖𝑛𝜃	𝑡34 −
1
2𝑔	(𝑡34)

,

𝑥 = 𝜐#8𝑡	 𝑥 = 𝜐#𝑐𝑜𝑠𝜃	𝑡;< 𝑥 = 𝜐#𝑐𝑜𝑠𝜃	2𝑡34

𝑅 = 𝜐#𝑐𝑜𝑠𝜃	2
𝜐#𝑠𝑖𝑛𝜃
𝑔 𝑅 =

𝜐#,2𝑠𝑖𝑛𝜃	𝑐𝑜𝑠𝜃
𝑔

𝑅 =
𝜐#,𝑠𝑖𝑛2𝜃	

𝑔⟹

⟹ ⟹

Όμως 𝜐& = 𝜐#& − 𝑔𝑡	 ⟹ 𝜐& = 𝜐#𝑠𝑖𝑛𝜃 − 𝑔𝑡	

Στο	μέγιστο	σημείο	ανόδου:		

(1)

𝜐& = 0	,	
⟹ 	𝑡	34=

𝜐#𝑠𝑖𝑛𝜃
𝑔 (2)

	𝑡 = 𝑡	34 ,	𝑥 = 𝑅

Από	(1)	και	(2)	και	επειδή	x=R	 (βεληνεκές)	έχουμε:

⟹

⟹ ⟹

⟹y− 𝑦# = 𝜐#𝑠𝑖𝑛𝜃	
𝜐#𝑠𝑖𝑛𝜃
𝑔 −

1
2𝑔	(

𝜐#𝑠𝑖𝑛𝜃
𝑔 ), ⟹y − 𝑦# =

𝜐#2𝑠𝑖𝑛2𝜃
𝑔 −

1
2𝑔

𝜐#2𝑠𝑖𝑛2𝜃
𝑔2

⟹y − 𝑦# =
𝜐#2𝑠𝑖𝑛2𝜃

𝑔 −
1
2
𝜐#2𝑠𝑖𝑛2𝜃

𝑔 ℎAB8 =
𝜐#2𝑠𝑖𝑛2𝜃

𝑔

𝜐#𝜐#&

𝜐#8
𝜃



𝑦 − 𝑦# = 𝜐#&𝑡	 −
1
2𝑔𝑡

,

y − 𝑦# = 𝜐#𝑠𝑖𝑛𝜃	𝑡	 −
1
2𝑔𝑡

,



ΝΟΜΟΙ	ΤΟΥ	ΝΕΥΤΩΝΑ






























































